U
o] A2}, 100z — 10z = 804 — 80 = 724

=

AREe TR | S| Bum | Auit | g

2 7 e 22 5 4

9 3 30 3 2X3 25

Hod ¢25ol M WAL &F9 | Aol

1 5 78 6 3 1

8 12 120 7 2x3" 9

[ 2, 815t
> = 4. TS [0 gt dgre &gtass 2o WY
[> ®Ef: o] o sl 012 =012 [ 2, 5
® 0.1 ® 0.01 3)0.01
Uetd £ Q= &5 oy @ o0.11 ® 0.001

T

]
o] mog 74z olet.

..o 12 1 ..
A2=—=—x12=0.01 x 12
0 99 99>< 0.01 x

o029 & 5 fFetagl AS 15 12H?
i 2, sh5 ]
; . . B D AB 4% yHiW f@447t B 1), A
@ 10 @ 35 ® I W5 7P A AAe=? M1 3, SH ]
18 24
@)—— ® =
24 45 @ 3 @6 (@) @18 ® 36
D 3 3 18 2 x 32 3
40:23><5 ) 24__23><3: 922 Z|oFR 42 e off 2RO 491471 21 5
ol ftATt Hit,
5 5
T AT g A
FetarE HEH A 99 vijgoln, 7HF &2
ZFA 4= 9ot
r=8.04 2t T o, AXFZITL Aot HE AL
i 2, SH5 |
@ 100z — x @10033 — 10z
6 3
O 24 -2 44 Uetd o, 11084 2k <]
® 1000z — x @ 1000x — 10z 7 ’
T=7 (W17 3, SHA ]

® 1000z — 100z
@2 @4 @5 @7 Os




B

3 _ 0.428571428571 - - - = 0.428571 0| 2.2 =3}

ntt] o] =2} 6 71
110 =6 x 18 + 20| B2 A%
2] 9] s=2}= 20]t

EN(

A ot 1104 2

gas 1234 g
999

ofel 52 WA A9 54 FahE?

[H4 3, s

[¢]

o1 @2 03 @1 065

A2 VRl E 1.235 o]t} A5

1.2350]28 3hutt] o] 522} 37
52 = 3x17+1°] 22 4254 o} 52 A 2}2] 9]
A 20|t

1)1<2<100
i) 5is & AgE e fehadt Pt
[HH;G 3, —a]./ﬂ-]
D)4 @ 67H ® 871
@ 147H ® 3371
X ar

=7 olBZ gz =219 Hjo|t}.
210 — X3 xBx7 e @ =21 Wil
wabA 21, 42, 63, 84 9] 47o]t},

B L8 AR v ehd 22

(W17 3, SH
D 1.8 @ 1.08 ® 1.83
@®)1.83 ® 1.803

11 =6 =1.83333--- = 1.83

|

[¢]

(M1 3, sH

Uhebd 4 qlek
Bgad Fole §2471 obd S it

[ 3, s
D A P PRASE B4 el &
olet.
@ +sase 25 geigolt
@) stast 25 gei5olt
@ feElft 2R f@A5E Ve 5 9
® il g5t ok,

SLAF




> Jo >
ot ol

© ® 6

A e o), 212

14
%4%43—’%
SHATIE a, b 2 51 0 — 9] S Tolele,
(B3 3, &3}

> =
[> ™=k 15

17 14 ..

—0257.h=— =0.

o6 = 0.257, 3 0.42

a:577b:42

- a—b=57—42=15




